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1. REIEE
(1) HEE
EETEE 3,285,760 2,963,123 322,637
WEE A 3,285,760 2,963,123 322,637
(2) ZDMhRENE &
EIEE 12,000 0 12,000
ZTOMRBEESET 12,000 0 12,000
REEESE 3,297,760 2,963,123 334,637
2. BE&E
M) BEETEERE
BEEMAE 216,000 216,000 0
BREEEESE 216,000 216,000 0
(2) HESH
HE® 10,000 10,000 0
HEFAG 10,000 10,000 0
BE&EST 226,000 226,000 0
BEESE 3,523,760 3,189,123 334,637
I&E0
1. REIAE
Y& 71,180 55,947 15,233
mEaESE 71,180 55,947 15,233
aEast 71,180 55,947 15,233
Il IE Bk BA & O &
1. —fRIERKELE 3,452,580 3,133,176 319,404
IERRBAEE &AL 3,452,580 3,133,176 319,404
B8 RU ERBMESS 3,523,760 3,189,123 334,637
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